DAYLIFF

DI-DIN 15/20

Great Pumps, Great Ve

ITEMNO. | DESCRIPTION MAN.P/NO. D&S P/NO. ITEM NO. DESCRIPTION MAN.P/NO. D&S P/NO.
11 Discharge part 1561100 DI15-11 47 Strap 1564700 NSI
12 Chamber, upper 1561200 DI15-12 48 Pump casing 1564800 NSI
13 Chamber, middle with bearing ring 1561300 DI15-13 50 Adapter flange 1095000B0 NSI
14 Bearing ring 1091400 DI10-14 56 Pump head cover 1065600 NSI
18 Impeller- DI-N 15 1561800 DI15-18 57 Shaft seal 1065700 DI10-57
18 Impeller- DI-N 20 2061800 DI20-18 59 Base 1565900A0 NSI
19 Bush 1561900 NSI 61 Flange 1566100 NSI
24 Neck ring 1592400 NSI 62 Base plate 1566200 NSI
25 Neck ring retainer 1562500 NSI 62 Base plate (Victaulic) 1066200 NSI
27 Clamp 1062700 NSI 63 Drain plug 1066300(316) NSI
28 Chamber, botton 1562800 DI15-28 64 Air vent screw 0166400 NSI
30 Strap retainer 1063000 NSI 65 Plug 0166500 NSI
37 Pump shaft DIN 15-5, 20-5 156370005 DI15-37A 66 O-ring (EPDM)-A-123 DI5-66
37 Pump shaft DIN 15-7, 20-7 156370007 DI15-37B 69 Hexagon sockethead screw (M6)-304 NSI
37 Pump shaft DIN 15-9 156370009 DI15-37C 70 Hexagon sockethead screw M8 (316) NSI
37 Pump shaft DIN 20-10 1563700010 DI20-37 71 Washer -316 NSI
37 Pump shaft DIN 15-14, 20-14 1563700014 DI15-37D 72 Shaft pin 0197200(316) NSI
37 Pump shaft DIN 15-17, 20-17 1563700017 DI15-37E 75 Screw (M4) NSI
38 Shaft ring 1063800(316) NSI 76 O-ring (EPDM)-P16 DI1-76
39 Shaft bushing 1063900(316) NSI 77 Nut (M16)-304 NSI
40 Lock nut M8(316) NSI 78 Washer 1047800 NSI
42 Spacing pipe 1564200 NSI 80 Disc spring 1098000(EPDM) NSI
43 Coupling Assembly DIN 15-5, 20-5 1094300D0 DI15-43A 82 O-ring 1098200(EPDM) DI10-82
43 Coupling Assembly DIN 15-7/9, 1094300E0 DI15-43B 83 O-rir.lg. . (EPDM) DI10-83

20-5/7 86 Retaining ring 1548600(304) NSI
43 (2:;’ ‘:gi';:ffsssemb'y DIN 1514117, 1094300F0 DI15-43C NSI - Non stock item available on special order only
NSI - Non stock item available on special order only




DAYLIFF DI-DIN 15/20

@@/M %Lw

:' 43 73—@l ;f
43{ %m

Victaulic

Great Pumps, Great Value! www.dayliff.com

Flange




	Page 1
	Page 2

